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Circles
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A circle is the collection of all points in a plane, which
are equidistant from a fixed point in the plane

Th A DI (AT FARTEH gl BY) RER AN B
(T T Pal) R IRER BIOT ARG PRl @ |
Equal chords of a circle (or of congruent circles)
subtend equal angles at the centre.

gfe 6 g &1 (A1 FaiTdq g PI) &l Sian
DG TR (IT [ Dal W) dRIER DT AART N,
1 SfiaTd aRTeR Bl 2 |

If the angles subtend by two chords of a circle (or
of congruent circles) at the centre (corresponding
centres) are equal, the chords are equal.

fpdl g & b 9 fHA Sfar R srern T 7=
S TSI BT B |

The perpendicular from the centre of a circle to a
chord bisects the chord.

@ W BB O dTell 3R Shar &l FAgfaiora
HY dTell T ST IR ofFd Bl 2 |

The line drawn through the centre of a circle to
bisects the chord is perpendicular to the chord.

A S g3l & M arell Ush iR dda
T g BT & |

There is one and only one circle passing through
three non-collinear points.

TP g DI (AT FANTEA gl ) aRER A dx
A (AT TG Dl ) FAME G W BRI B |
Equal chords of a circle (or of congruent circles)
are equidistant from the centre (or corresponding
centres).

TP g & bg (I FANEH g0l D Dal) I FAM
T W Reyd SHarg a_1eR B 2 |

chords equidistant from the centre (or
corresponding circles) of a circle (or of cogruent
circles) are equal.

Ife f&l 9 @ JT 99 |ahTHd 81, a1 D!
AT Sial aRTeR Bl § SR faoima: afe e
T BT AT A8 RER Bl Al ST A AT
(cTg <) waftTad BId 2 |

If two arc of a circle are congruent, then their

corresponding chords are equal and conversely
if two chords of a circle are equal. then their
corresponding arc (minor,major) are cogruent.

fpdl g @1 wahTAd A9 HE UR GRIER BT
AR &xa 2 |

Congruent arcs of a circle subtend equal angle at
the centre.

Bl = §RT @ WR SfART IV IqB §RT g
& AT IR & el fawg R faRa HIvT &1 g
&I 2 |

The angle subtended by an arc at the centre is

double the angle subtended by it at any point on
the remaining part of the circle.

T% JETE H § BV aRIER BN © |

Angles in the same segment of a circle are equal.

3ITGT BT DIV FHABIV BT © |

Angles in a semicirle are at right angles.

afe 1 fagell @ e arer YaaEre S|
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If a line segment joining two points subtends equal
angles at two other points lying on the same side
of the line containing the line segment, the four
points lie on a circle.

T TS B THE DIV & UAdH J7H BT AT
180° BICT © |

The sum of either pair of opposite angles of a
cyclic quadrilateral is 180°.

I B IS & T divl & (Bl v ™
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If the sum of a pair of opposite angles of a
quadrilateral is 180°, the quadrilateral is cyclic.

Multipule Choice Question
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c. a AT b ST d. T4 I EFIE‘ GH
The centre of the circle is located in the .......... of
the circle.
a. Exterior b. Interior

c. aand bboth d. None of these
% fag foraa) g8 90 @ @5 4 At




P K5 i H Rera grar 2 | a. @™ b.  Shar
a.  9feRT b SIEITN c. AN d =
c. adarbeHl d T 9 s T8 The line joining two points of a circle is
A point whose distance from the circle is greater called.............. of the circle.
than the radius is located in .............. the of the a. Arc b. Chord
circle. c. Diameter d. Radius
a.  Exterior b.  Interior 9. g D dwx AR g9 W Red fedl fag
c. a and b both d. None of these CARE KIE BCI I BRECIEC K TA BT eunnenns
3. o fag Rwal 90 & @% 9 0 e | HEATEr 2|
22 B G s A Rera grar 21 a. =g b Sfar
a. GIREC I b. IR C. g d. Broar
c.  adATbaMl d. T A BE T The line segment joining centre and any point
A point whose distance from the centre of the of a circle is called.............. of the circle.
circle is lesser than the radius is located in the a. Arc b. Chord
............... of the circle. c. Diameter d. Radius
a. Exterior b. Interior B - .
c. aand b both d.  None of these 10. v 9l arel <1 g 14
4. I9 B G4Q <) AT A BT e, ghar 2 | 4. [dIm b @Id Wy
S A c. SR d ™A ETE
c TeolRa d rar Two circle with equal radius are:-
The largest chord of a cicrle is ........... of the circle. a Congru.en.t
b. Only Similar
a. Arc b. Chord
. . c.  All of the above
c. Diameter d. Radius 4 None of the above
5. U® AU ... BIdl 8, o4 s9a R Usb : :
1. afq g1 g< gaiTad & a1 94 9 s g
¥ @ KRR el
3 A1 7em 2, A1 gER g BT ATH BI:-
a. ST‘E]QT‘I b. ol <Y 7
c. Trgve d «™ & cm
. . b. 7cm | BH
An arc is ........ when its ends are the ends of a 3 ot
diameter. c 7 cm
a. Semicircle b. Minor arc d. 14 cm
c. Sector d. Diameter If two circles. are congruent and. the radius of
6. qUAES T AY A ... @ 919 ®7 AR BT 2 one of .them 1.s 7 c¢cm, then the diameter of the
. other circle will be:-
a. Py b. i
a. 7 cm
c. o™ d. AR b.  lessthan 7 cm
A segment is the part between an arc and ......... c. More than 7 cm
a. Centre b. Chord d. l4cm
c. Diameter d. Radius . .
12. &5 & & 99 @ RRI 49 fies arell
7. Wiﬁ,l?ﬂﬂﬂﬂq—\' ............. Rera glar 2, %IWTWS]TQHWH?@'—CI@&%?IEFT
SO 9N A famfoa sxan §| m %|
a. 1 b. 3 )
C. 4 d. 2 a. EICE @3. b. Hg Ele
A circle divides the plane on which it lies into c. ERRECS d. A
........... parts The area between the radii meeting the ends
a. 1 b. 3 of an arc and the centre of the circle is called
c. 4 d. 2 e
8. < @ <l fa=gall &I Ml aren k@, g1 &1 a.  Segment b.  Minor arc
............. HETI © | c.  Sector d. Diameter
HEfT-9 (TfOTd) (779




13. 9d @ Sfiar taH 9™ @ A 8639 Bl
............... HEd 2| A
: b
a. orfgd b. JIEsS %v‘w Q
c. Prougs d e B /
The area between the chord and the arc of a
circle is called............. of the circle . qd &1 US_Sflar ga a1 e d IR B
a.  Semicircle b.  Segment SfaT §RT &5 R JAART BIVT T A1 2:-
c. Sector d. Diameter a. 50° b. 70°
< C. 60° d. 80°
14 & 99 & SUER WG = W ......... o )
FIT siaRa ) & | A chord of a circle is equal to the radius of the
circle. The value of the angle subtended by the
a. Sk _ b. ST chord at the centre is:-
c. adATbaH d. T A DS TR a  50° b, 70°
Equal chords of a circle subtend ............. c. 60° d. 80°
angles at the corresponding centre. Wﬁf ¥ afe AB=CD=AO &, al / COD &I
a. Equal b.  Unequal U 2I:-
c. Bo-th aandb d.  none of these X 700 b 500
15. anpfa A, afs AB=CD 8, @ £ COD &1 o4 c.  80° 4 60°
BIT:- A
a.  40° b.  50° \'
c.  80° d  60° 'D
B
A In the figure, if AB=CD=AO, then the value of
\bo £ COD will be:-
D a.  70° b.  50°
BC' . 80° d  60°
In the figure, if AB=CD, then the value of A
/ COD will be:- \" A
a. 40° b. 50° B
C. 80° d. 60° ) .. )
19. ¥aTEA gl Y SRR S 6Id sl W
NV PIVT IFART Bl 2 |
@ a. NTHIA b. SINTHTA
" e ammbAH A4 g T @
B Equal chords of congruent circles subtend
_ C angles at the corresponding centre.
16. JTHfa #, AfT AB=7 cm &, °@1 PQ &T HIF BIM:- a.  Equal b.  Unequal
a. 7 em b. 7 emy BH c. Both a and b d. None of these
c. 7em waH  d l4cm 20. 3mepfa A, AR €, e €, } walTEw g 2,
A afeé AB=CD =i, df / CO,D &I HI E:-
a. 40° b. 50°
av"w 0 . 80° d  60°
B _/ C, C
In the figure, ifAB=7 cm, then the value of PQ ©
will be:- AB CD
a. 7 cm b. less than 7 cm .
c More than 7em d. l4em In the figure, if C, and C, are two congruent
BHET-9 (”IERD rm




circles, If AB=CD, then the value of L CO,D 24, qd ® UP ofldl &l oIS 8 em @ ddT S99
will be: gd & 51 5cm, @ 39 ST @ o 9
a. 40° b. 50° ERl i—
c. 80° d. 60° a. 3cm b. 4 cm
C, c, c. 10 cm d. 12 cm
& The length of a chord of a circle is 8 cm and the
A A A radius of this circle is 5 cm , then the distance of
B CN D this chord from the centre is :-
21, ampfa # |, afx ¢, @1 C, < \aiTew 9 a. 3cm b 4cm
21 aft CD=5cm B, @ AB @I W B c. 10cm d.  12cm
a.  5cm ¥ 3R b. scma w25 TP IA D IS 17em TG 3HD T
S em 10 em Sfiar @ &7 4 g8 15em 2, 91 99 & Siar
d. P o1 BHfL-
a. 8 cm b. 30 cm
c. 34 cm d. 16 cm
The radius of a circle is 17 cm and the distance
of one of its chords from the centre is 15 cm, then
In the ﬁgure, if C1 and Cz are two congruent the length of the chord of the circle will be:-
circles . If CD=5 c¢m, then the value of AB will be:- a 8 cm b 30 cm
More than 5 cm Less than 5 cm c: 34 cm d: 16 cm
5cm d. 10 cm
26. wﬁfﬁuﬁ{qﬁaﬁﬁ—mmcm%am
OP= 8cm &I, d AB &T |9 BIN:-
a. 6 cm b. 10 cm
A CD c. 12 cm d. 20 cm
22. an%%ﬁﬁ%cﬁmwmw
o, 9 fawfiora &var 2
a. QI _IER AT H ) ) oo
b - AT In the figure, if the radius of the circle is 10 cm
) 5 and OP = 8 cm,then the value of AB will be:-
c AR ARIEY T a. 6 cm b. 10 cm
d. T W B T c. 12cm d  20cm
The perpendicular from the centre of a circle to
a chord divides the chord:-
a. In two equal parts
b. In three equal parts AN 7B
c.  Infourequal parts 27, adfa #, Iy L OAB=40° &, @ L AOB &1
d. None of these Hie Q|
23. 97 @ U Sildl @) €IS 24 cm @ T 39 a  40° b 50°
SilaT @1 &7 4 ¢ 5eme |, 9 39 99 &I e 100° d  80°
roar gf-
a. 12 cm b. 10 cm
c. 13 cm d. 48 cm
The length of a chord of a circle is 24 cm and A
the distance of this chord from the centre is 5 In the figure, if / OAB=40", then the value of
cm, then the radius of this circle will be:- / AOB will be:-
a. 12 cm b. 10 cm a. 40° b. 50°
c. 13 cm d. 48 cm C. 100° d. 80°
FefT-9 (TfOTeN (T37)
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28. ampfy A, Ak LPOQ=80° &), @ LoQpar 31. 3P A, AR 0T &1 &% 2, A LOPA 1
A B:- HE BII:-
a 80° b. 40° a. 80° b. 90°
c.  100° d  50° c. 50° d. T 9 $g T
P70 AT
In the fi if / POQ=80", then the val f
n the gure, l. £ POQ=80’, then the value o In the figure, if O is centre of the circle, then
/ OQP will be:- .
value of / OPA is :-
a. 80° b. 40°
. 100° d 500 a. 807 b 907
” c. 50° d. None of these.
P<__q
. AT T
29. angpfa ¥ , AR L 0YX=30'&), al <fiar XY g
§RT 7% WX JaRd o1 o1 a1 - 32. @9 s gl 9 feaq g &9 o
a.  40° b, 60° PHd 7
C. 100° d. 120° a. 2 b. 1
c. 3¥Hd d. ST A BE T
How many circles can be drawn through three
non-collinear points?
a. 2 b. 1
In the figure, if / OYX=30° then the value of c. Infinite d None of these.
angle subtended by the chord XY at the centre ] . .
wﬂgl be:- Y 33. 9 WER fagen 9 feaa ga & o
’ qhd 2?
a. 40° b. 60° &
c. 100° d.  120° a. 0 b1
c. 3Fd d. ¥ PE &
How many circles can be drawn through three
A‘ collinear points?
R a. 0 b. 1
30. 3Mdpfa A ST PQ &= WX 100° &T &HIvl c.  Infinite d.  None of these.
AR axdl & . A LOPQ BT A BN 3y ugs gy &) ax1aR SNATT D7 ... <
a.  100° b, 40° R BIdl 2 |
¢ 80 d 30 a. b b. A
c. adAl baHl d ™A PR TE
Distance of equal chords of a circle from the
P Q centre is......... .
In the figure, chord PQ subtends an angle of 100° a. Equal b. Unequal
at the centre, then the value of / OPQ will be:- c. Both a and b. d. None of these
a. 1007 b 400 35. U® 9 Pl oflai¢ AB 9T CDId & &g 4
c. 80 d. 50 i ¢ iR Rerd & aef AB= 10 em 2,
dal CD &7 A9 8T :-
H&(T-9 (TfUTeN) (153




a. 8 cm b. 10 cm

c. 12 cm d. 20 cm

The chords AB and CD of a circle are at equal
distances from the centre of the circle. If AB =
10 cm, then the value of CD will be:-

Chords situated at equal distance from the
centre are:-

a. Equal b.
c. Both a and b d.

Unequal
None of these

39. AB @7 CD U& g @ &I a¥1eR Sfiaid 2 |
a. 8cm b.  10cm Ife AB @1 @5 4 8 12cm 2 , @ CD &1
c. 12 cm d. 20 cm dc 9 f{\ﬁ a1 -
36. A, AB 9T CD §d & @5 09 9AH a. 24cm b.  6cm
T W Re@ € 1CD &1 A9 8I9m:- c. 12cm d 8cm
a. 4 cm b. 6 cm AB and CD are two equal chords of a circle. If
c. 8 cm d. 10 cm the distance of AB from the centre is 12 cm, then
D~ C the distance of CD from the centre will be:-
a. 24 cm b. 6 cm
‘. c. 12 cm d. 8 cm
B 7 A 40. TP g @Y SNA¥ AB @1 PQ 91 @ &g o
In figure,the chords AB and CD of a circle are T 8 wR Rerd g afe PQ= 10cm ©, a1
at equal distances from the centre of the circle. AB BT AT BT :-
The value of CD will be:- a. 6 cm b. 10 cm
a. 4 cm b. 6 cm C. 12 cm d. 24 cm
c. 8 cm d. 10 cm The chords AB and PQ of a circle are at equal
D~ ¢ distances from the centre of the circle. If PQ =
10 cm, then the value of AB will be:-
‘ a. 6 cm b. 10 cm
B 7?7 c. 12 cm d. 24 cm
37. PR ¥, ABQAT CD A &) Q) awraR ofarg 41 3“TR'£' %_%jr afr?ﬁi; ¢ 3R v ‘“d%' iﬁ@
2 afd 09d &1 &% 2, AB=12cm dT 9 APQB <l ¥ k! afees T FRdl 8, -
31 a1 10em 2, df Sfilar CD @7 5 4 a.  AP>BQ b.  AP<BQ
iﬁ - C. AP=BQ d. AQ>BP
a. 8 cm b. 10 cm
c 12cm 24 cm
B
In the figure, O is centre and a straight line
APQB is drawn to cut two concentric circles,
In the figure, AB and CD are two equal chords then:-
of the circle. If O is the centre of the circle, AB a. APiBQ b. AP<BQ
=12 cm and radius of the circle is 10 cm, then c AP=BQ d AQ>BP
the distance of chord CD from the centre is:-
a. 8 cm b. 10 cm
c. 12. cm d. 24 cm
42. ADU® g &1 <UTH @ AR AB U ofidl 2 |
Ifs AD= 50 G, AB= 48 4Hi, d 91 >
@5 9 AB &1 §¥ @:-
38, @ W aRER g W Rerd Sfard s 8- a. Sem b 6Gem
c. 7 cm d. 8 cm
a. 4t _ b. Sk AD is the diameter of a circle and AB is a chord.
c. a TATh I d. STH | BI3 T8l If AD=50 cm , AB =48 cm, then the distance of
H&T-9 (OTeN ==
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AB from the centre of the circle is :- 47,

a. 5cm b. 6 cm
c. 7 cm d. 8 cm
43. df fed 39 @& 1 =99 wal™A @, qf
SI@! WId Sfad .......... Bt 2
a. NTHTA b. SRTHTT
c. a dT b gl d. 379 | BIS Al
If two arcs of a circle are congruent, then their
corresponding chords are......... .
a. Equal b. Unequal
c. Bothaandb d. None of these 48.

44. UP 9<1 @ &I 919 AB TT CD HalT9HH 2 |
f& Sfiar AB =6em &1, I SfldT CD &7 HIA
BITT: -

a. 24 cm b.
c. 12 cm d.
Two arcs AB and CD of a circle are congruent.
If chord AB = 6 ¢cm, then the value of chord CD

6 cm
8 cm

will be:-
a. 24 cm b. 6 cm
c. 12 cm d. 8 cm
45. fedl ga @ AT U DH W .........
®IT IART X 2 |
a. SRR b. STFHTT
c. adATbTHI d. ST PE TE
Congruent arcs of a circle subtend.......... 49.
angles at the centre.
a. Equal b. Unequal
c. Both a and b d. None of these

46. IMPfa d, g & I 919 AB TAT CD |ai19H
2 dl £COD &T A9 &1 :-
a.  40° b.  50°
c. 100° d.  80°

In figure, arcs AB and CD of a circle are
congruent, then value of / COD is:-
a. 40° b. 50°
c. 100° d. 80°

WHEMT-9 (o1

fadl 9y gRT B W HaRa IvT WS gRT
3d @ Y 99 & fedl fag u= falRa i
) IR BT 2 |

a. ENER b. RIS

c. AR d.  amr

The angle subtended by an arc at the centre is
. the angle subtended by it at any point
on the remaining part of the circle.

a. Equal b. Double
c. Four times d. Half
rpfa A, L ACB &T A B:-
a. 100° b. 40°
c. 80° d. 50°

C

O

"

In figure, value of / ACB is :-
a. 100° b. 40°
c. 80° d. 50°

ampfa A4, /PRQ &T A -

a. 110° b. 40°
c. 55° d. 70°
D
P
Q
In figure, value of /PRQ is :-
a. 110° b. 40°
c. 55° d. 70°

D
TN
Q

AMPFAT A, x &1 94 B:-
a.  100° b.  40°
c.  80° d  50°




54.
In figure, value of xis :-
a. 100°
c. 80°
51. 3mafa A, y&l 14 @:-
a 130° b. 65°
c.  260° d. 30 S5
p
4
<>
'
In figure, value of y is :-
a. 130° b. 65°
c. 260° d. 30°
P
O
‘
D
52. U®H quEs A 9 BT .. Bd T
a. AT b. SINTHTA
c. adem bl d. WAL T
Angle in the same segment of a circle are ....... .
a. Equal b. Unequal
c. Both a and b d. None of these
53. 3MPHfa ¥, /ACB &T M B:-
a. 100° b. 30°
c. 80° d. 50°
’ C
A '
.ﬂD
B
In figure, value of /ACBis :-
a. 100° b. 30°
C. 80° d. 50°
’ C
A '
.‘”D
B
DHET-9 (ATfUTen

PHfa A, L/ PSQ &1 A @ :-

a. 50° b. 100°
C. 70° d. 80°
R
P ‘M
S
In figure, value of / PSQ is :-
a. 50° b 100°
C. 70° d. 80°
R
4
S
Q
ATPfT d, L AOC &T 99 B:-
a. 20° b. 40°
c. 60° d. 10°
S
C
In figure, value of / AOC is:-
a. 20° b. 40°
C. 60° d 10°

)

A

C
arpfa 4, afe L0AB=40'2, dI LACB&I
A B:-

a. 50° b. 40°
c. 70° d. 60°

In figure, if / OAB=40°then value of / ACB is :-
a. 50° b. 40°
C. 70° d. 60°




57. 3mafa #, afe /DAB=60" 3R /DBA=50" c. 70° . 80°
2, A LACB &I dH @:-
a. 60° b. 50° P 0
c. 70° d. 80°
D
NN
62. A, afs AOBgd &1 aara 2 qe
A AC=BC?, d /CAB &I A9 2:-
p
K a  30° b.  90°
c. 45° d. 60°
In figure, if / DAB=60° and / DBA=50°, then C
value of /ACBiis :-
a. 60° b. 50° Al B
C. 70° d. 80°
> C
v In figure, if AOB is diameter of the circle and
A AC=BC(, then value of / CAB is:-
N~ e a. 30° b. 90°
—" . 45 d  60°
58.  arefgal BT BT ......... g 21 R
a.  =gd POl b.  FHADIU N .
c.  3f¥® Pior d.  gof @I
Angles in a semicircle are at ........ angles
a. Acute angle b. Right angle 63. ¥, gfe o qd @l d<e & 9T
c. Obtuse angle d. Complete angle AB=BC=AC 2, dlI /BOC &I 41 2:-
59. fodl g gaEs d 941 BT BT B:— a.  30° b.  60°
a.  3If¥& HIoT b.  EHRIT c. 1207 d. 90°
A
c. A Pl d.  gof o
The angle formed in a minor segment is:-
a.  Obtuse angle b. Right angle A
C. Acute angle d. Complete angle BN___C
60. fH<r e gaEs 9 991 HIvT AT 2 In figure, if O is centre of the circle and
a SR EIT b TR AB=BC=AC(, then value of /BOC is :-
' ' a. 30° b. 60°
c. TIEM d. i m ¢ 120° 4 90°
The angle formed in a major segment is:- A
a. Obtuse angle b. Right angle
c. Acute angle d. Complete angle
61. 3nmafa ¥, afs POQIT &1 & B, @1 L PRQ A /
®I A B:-
A 50 b 90° 64. 4, Ak 0Oqa &1 B © Al
C. 70° d. 80° AB=BC=AC g, ?ﬁ ZOCB ‘Dl HIA é:-
a. 60° b. 30°
C. 15° d. 120°
P Q A
In figure, if POQ is diameter of the circle, then @
value of / PRQ is :- B C
a. 50° b. 90°




In figure, if O is centre of the circle and
AB=BC=AC, then value of / OCB is :-

a. 60° b. 30°
C. 15° d. 120°
A
B ‘c

a. 90° b. 60°

c. 180° d. 100°
D C
AN__B

In the figure, ABCD is a cyclic quadrilateral,
then the value of /B + /D will be:-

. a. 90° b. 60°
65. 3afd #, AfT O g &1 b= & d=AT BO=BC e 180° 4 100°
8, dl /BAC &I 4 ®:- ' 5 e
a. 30° b. 60°
c. 120° d. 90°
A AN__B
69. ATPHfT A, PQRS U Ty agHd @, dl x Bl
| BI:-
’ i 180° b 70°
In figure, if O is centre of the circle and BO=BC, 2' 80° d‘ 110°
then value of / BAC is :- ’ S ]
a. 30° b. 60° JA— \
c. 120° d. 90°
A X x»lO“r
In the figure, PQRS is a cyclic quadrilateral,
then the value of x is:-
’ ¢ a.  180° b 70°
66. T AHT ® G DIV b IAD W c. 80° d  110°
&7 AT ... Bl © | s R
a.  90° b.  60°
c. 180° d. 100° . i
The sum of either pair of opposite angles of a PN___“Q
cyclic quadrilateral is ......... . 70. ABCD U& i‘@ﬁ‘_’f 2R a@ LA+ C=180°
a. ?g; 3' ?8; 2, @ ABCD &
c. ° . ° . :
a.  GHcId b. AR TIYS
67. TH AGHT > T BV D UAD I o i :
ST AT ... 2| ¢ d I E @R
0T ABCD is a quadrilateral in which
a NIEIEEE
b aror /A+ /C=180° then ABCD is :-
L - a. Trapezium.
¢ E. [ b Parallelogram
d RSP Gkl c. Cyclic quadrilateral.
The sum of either pair of opposite angles of a d None of these
cyclic quadrilateral is .........
a. Vertically opposite angles Very Short Answer Type Questions
b.  Complementary angles (@far oy ST uw)
c. Adjacent angles.
d. Supplementary angles L qq @1 aRATT BIRTY |
68. 3Mdfa #, ABCD s ah1d dagHs @, dl Define a circle.
/B+/D $T AT BI:- 2. g9 o9 aa wR Red g1ar § 9 e sl 4
H&T-9 (OTeN (157)




g w=ar &2 angles at the centre.
Into how many parts does the circle divide the 2. fIg FIfST & & g Bl AT A9 s
plane on which it lies? TR GRIER P07 3falRd el 2 |
3. gd &I ofiar @ aREIiT @Iy Prove that congruent arcs of a circle subtend equal
Define the chord of a circle. angles at the centre.
4 99 B T ol e B T e 3. Rrg @Y & rfga &1 o AH@r g 2 |
What is the longest chord of a circle? Prove that angles in a semicircle are at right angles.
5. @9 B UE A B RRE Qe el Bewatt e ! TP g 5 O DT T EE
Td A9 D 4 D A Pl L BeEd B | Prove that angles in the same segment of a circle
The area between the radii meeting the ends of an are equal.
arc and the centre of the arc is called .......... 5. NPT H, dg O dlel Us 9 WR oI fdg A, B 3R
AR e R C 34 UPR & fb/BOC=30° AT/ AOB=60°
6. A @ | g afe 99 ABC & 1faR g W D & fdg ¢,
Define circumference of a circle. ar / ADC STd ST |
. B
7. OGS @l GRHATNT BIf | A c
Define segment of a circle. 60°/30°
8. Udh g Pl AN 10cm &, A IH I HI FZm
ST BIFY |
The diameter of a circle is 10 c¢m, then find the 5
radius of that circle. .
_ In the figure, there are three points A, B and C on
9. IMPf H# af AB I DT AR € o LACB a circle with centre O such that / BOC=30° and
M | / AOB=60°. If D is a point on the circle other
than the arc ABC, then find / ADC.
B
A
C
A B
In figure, if AB is diameter of the circle, then find
/ ACB. D
Long Answer type Questions
(el Sada geA)
A B
g @Y f6 fdl a9 gRT &= W SfaRd
DIV IFD gRT I & YY 9 & el fIg ==
10. &7 gl & FaTHA B9 B A foffEy | 3ART HIOT BT AT BT B |
Write the condition for two circles to be congruent. Prove that the angle subtended by an arc at the
centre is double the angle subtended by it at any
St A fgpe QuesFons point on the remaining part of the circle.
GESSHNERES)) 2. g PN & B 9 & b A BT Sifar o
L STl AT T S FHIgHIRIG BT B |
1. Rrg #IfNY b ga @1 aR1aR SiE &g IR aRIER : :
BV SR B B Prove that perpendicular from the centre of a circle
to a chord bisects the chord.
Prove that equal chords of a circle subtend equal
&fT-9 (foTe) ==
HET-9 ( 128
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Rrg HIT f& = tl%%}rl & GG DI & 4. A (Diameter)
S g @t T 180 8| 5. TGS (Sector)

Prove that the sum of either pair of opposite angles

of a cyclic quadrilateral is 180°. 6. URfer— ga T Y R DI SaE B IRM FEd 7 |

Mulfiple Choice Questions Circumference:- The length of boundary of a circle

(sg fAmcdT gyl &1 ITNR) is called Circumference.
7. g We— gd H ST SR Hd 99§ iR g

1.b 2. 3.b 4. 5. 6.b
. : ¥ &5 Pl 9d WS HEd B |

7.b 8.a 9.d 10.a 11.d 12.c
13b 14a 15d 16.a 17c 18d
19.a  20.c 2l.c 22a 23.c¢c 24a
25d 26 27c¢ 28d 29d 30b
31lb 32b 33.a 34a 35b 36
37.a  38.a 39c¢c 40b 4lc 42Db
43a 44b 45a 46d 47b 48d
49¢c 50c 51b 52a 53b 54b
55b S56.a 57c¢c  58b 59.a 60.c

61b 62c 63.c 64b 65a 66.c
67d 68c 69c 70 Segment of a circle:- The region bounded by chord

and corresponding arc is called segment of a
Very Short Answer Type Questions circle.

(arfa g ggl &1 IR)

ga— el a1 & 991 |1 fa=gail &1 we foras
s fig & O ve Rer g & 994 &l 2,
I gd ded 7| T 0 B qor Rer
fig @ &= Ped 2|

Circle:- The collection of all points in a plane,
which are equidistant from a fixed point, is called
the circle. The fixed distance is called the radius
and fixed point is called the center of the circle.

I (Three)

SiaT— gd WR Blg [dgsil &I A are 8. ﬁ@T:%Xm:Scm Ans.

Radius :% X 10 =5cm Ans.

\
ge%“\eo

@2(30‘

A B
Chord:- The line segment joining any two points
on the circle is called. chord.
ZACB =90’
31 gl BT DI FHDBIV BN B |

Angle of a semi circle is a right angle.

10. f3sam gaE 8 @nfev |

HEfT-9 (TfOTd) =




WHEMT-9 (o1

Radius are equal.

Short Answer type Questions

(g 9=l BT I<R)

N
A C
B | |
& T 8= C (0, 1)U ga 2 R a1 Siraredi
AB 3R CD & idrsdf ax1eR & | AB=CD
1€ &1 8— £ AOB=2COD
AT~ A AOB 3R A COD #
AO=CO [Fr=m]
OB=0D [fr=am]
AB=CD [fear a1 g ]
SSS FaraHdr |
A AOB = A COD
ZAOB=/COD [CPCT¥]
FaTod |

Given:- A circle C (o, r) in which length of two
chords AB and CD are equal, ie AB =CD
To prove that:- £ AOB=2COD
Proof:- In A AOB and A COD
AO=CO [Radius]
OB =0D [Radius]
AB=CD [Given]
By SSS Congruence Rule
A AOB = A COD By (CPCT)
ZAOB=2COD Hence Proved.

B
fear T B— C(o,r)@ﬂﬁ%ﬁrﬂﬁ
AB = CD

{130}

i.edm™ AB 3R CD HaiH % |
RIg @1 & ~ AOB=~COD
F[E— AO, OB, OC @1 OD &1 el |
gaoT— A AOB 3R A COD #
AO=CO [Pram
OB=0D [famg]
-~ AB = CD
SHATAB = SIEICD [WaiTad a9 & Sd sirdr
P AarSar FHH B 2]

SSS FatTaqar 9
A AOB = A COD
CPCT 9,
ZAOB=ZCOD arfd |
D
A C
B

Given:- A circle C (o,r) in which AB = 6—]5 ie
ares AB and CD are congruence

To Prove that:- £ AOB=2COD

Construction:- Join OA, OB, OC and OD.

Proof:- AO = CO [Fr=am]

OB =0D
-+ AB = CD

= Chord AB = Chord CD. [I ares are
congruent then corresponding chords are equal]
By SSS Congruence Rule
ZAOB = ZCOD

By CPCT
ZAOB = ZCOD Hence Proved.

AwB
e 11 28— TP 9 C (0, 1) T |
SR AB @9 3R £ ACB 1€dd &1 BIT 2 |

g P 88— L ACB=90°
YHIVT— <19 §RT d & b W a9 DI, IAT a9




ERT 9 & 31T 9T UR g1 BV Gl GIAT BIelT 2 |
ZAOB= 2/ ACB

— 180°= Z ACB[ZAOB = 180° &I PIT]
0
— 4ACB=1820 =90°
ZACB=90°  |IUd |

Given:- A circle C (o, r) in which AB is a
diameter and £ ACB is the angle of semicircle.
To prove that:- £ ACB = 90°

A U B
Proof:- Angle subtendeel by an arc at the centre is double
the angle subtended by it on the remaining part of

the circle.
ZAOB=22ACB

= 180°= ZACB[Z£AOB = 180°, Straight
angle]
0
—  zacB="3" —ope
ZACB =90° Hence Proved.

Rerfar 1

fear 1 8= C (0, 1) U® ga 2| Rr9H =19 AB gRT
Id AT 9T R 991 BT L APB AR L AQB R |

Rrg &vT 2—

RAAT—

2/ APB =/ AQB

OA 3R OB &I fAaman
Tt — Refy 1 o9 99 AB oY
Z AOB =2/ APB

T A §RI I & b

(D 1 W71 997 B 99
T & g R 99 DI
BT YT BICT 2 |

— /APB- % / AOB

Z AOB =22/ AQB

WHEMT-9 (o1

ZAQB=% ZAOB...

FHIBIT (1) AR (2) A
Z APB= ZAQB

Vi

2

Rerfa 2

Rerfd(2) w9 =g AB < 2|

Reflex ZAOB=22ZAPQ
—  ZAPQ= % Reflex ZAOB...(3)
Reflex ZAOB=22ZAQB
2/AQB= 5 Reflex ZAOB...(4)

THIERT (3) 3R (4) A

ZAPB= Z/AQB  {Ifud |

—

Given:- A circle C(o, 1) £APQ and £ AQB are
two angles subtendeel by same are AB on the
remaining part of the circle.

To Prove that:- ZAPQ= ZAQB
Construction:- Join OA and OB

Proof case:- When are AB is minor.

case 1
Z AOB =22 APB

Angle subtended
by an are at the
centre is double the
angle subtended by
it an the remaining
part of the circle

— ZAPB= 5 ZAOB..(I)

Z AOB =2/ AQB

— ZAQB=7 ZAOB.(2)

from equation (1) and (2)
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Z APB= ZAQB

Vi

case 2

Case-2 When arc AB is major.
Reflex Z£AOB=2/APB

ZAPB= % Reflex ZAOB...(3)

Also Reflex ZAOB=22AQB

_—

2/AQB= % Reflex Z AOB...(4)

—

From eq (3) and (4)
ZAPB= ZAQB Hence Proved.

fear ar 8-
£ AOB = 60°
ZBOC =30°
o LAOC =60°+30°=90°
Y §RT 75 R 1 HI0T IAT A9 §RT I & AT
T & fodl favg R a9 DI &7 AT BT B |
ZAOC=2-2ADC
= 90°=2~2ADC

0
—  ZADC=2J- =45 Ans.
B
Aw c
D

Given:- ZAOB =60°

ZBOC = 30°

. ZAOC = 60°+ 30°=90°

WHEMT-9 (o1

Angle subtended by an are at the centre is double
angle subtended by same are on the remaining part
of the circle.

ZAOC=22ADC
= 90°=22£ADC

90"
2

= ZADC= =45° Ans.

Long Answer type Questions

(ref g @1 STR)
1.
C C C
AN
A B B
A B w
Rerfa 1 Rerfa 11 Rerfa 1

f&am a1 &= C(o, 1) Td g © oA =19 AB
ERT ZAOB &% WR 3R gd & AY 91 &
f&g CT® £ ACBT 2|

Rrg o B

L~ AO ®I R T AO & D % derl
garor: Rerfo— [— 19 ama AB &g @9 2 |
A AOC #
— ZAOD= Z0AC+ ZOCA
[rst ar=r s faemar 4]

— ZAOD= Z0OCA+ ZOCA
— ZAOD=220CA.(1)

ZAOB=2ZACB

" 0A=0C
Ed Z:OCA: Z:OAC

ENENE IS E i
= wBR A BOC # [ S &
Z/BOD =2Z0CB......(2)
FHIBRT (1) 3R (2) BT ST &R

— ZAOD+ £BOD=220CA+220CB
— ZAOB=2(0OCA + OCB)

— /AOB=2ACB
ReIfi—11 ;- 519 =19 ergga 2|
AAOC ¥

— ZAOD= ZOAC+Z0CA

— /AOD= Z0OCA+ Z0OCA
— ZAOD=220CA
T 9BR ABOC |

f—t

(132}




WHEMT-9 (o1

Z/BOD =2 2/0CB......(4)
THIBIOT (3) 3R (4) BT et TR
ZAOD+ ZBOD=2/0CA+2/0CB
— Z/AOB =2(Z0CA+ 2 OCB)

— ZAOB= 2/ACB

Rerfd— 111:- S g AB < 7|

AAOC #

ZAOD= Z0OAC +Z0CA

— ZAOD= ZOCA+20CA

— ZAOD=20CA.....(5)

I PR, ABOC #
/BOD=2/0CB........ (6)

BT (3) 3R (4) DI S W
ZAOD + ZBOD =2~20CA+220CB
— Ref ZAOB=2(Z0CA+ Z0OCB)
— Reflex ZAOB=2ZACB \IIUq |

case- | case- 11 case- 111

Given: A Circle C(o, r) in which angles
subtended by an are at the center and on the
remaining part of the circle are £ AOB and £
ACB respectively.

To prove that: £ AOB = ZACB
Construction: Join AO and Produce it to D.

Proof: case -I:- When @ is minor.
InA AOC
— ZAOD= Z0AC+ Z0CA
[Exterior angle property of triangle]
— ZAOD= Z0CA+ Z0OCA

= ZAOD=220CA..(1)
" 0A=0C
Ed £ OAC= 4 OCA
Angle opposite to equal

Similarly in A BOC sides are equal

— /BOD=2/0CB......(2)

(133}

Adding (1) and (2)

= ZAOD+ £ZBOD=2Z0CA+22£0CB
= ZAOB=2(£L0CA+ Z0OCB)

= ZAOB=2 ZACB

Case-II:- When I/A—ﬁ 1s a semi circle.
In AAOC

= ZAOD= ZOAC+Z0CA
= ZLAOD= Z0CA+ Z0OCA

= ZAOD=2Z0CA. ... 3)
Similarly, ABOC

ZBOD=220CB.......(4)

Adding (3) and (4)

ZAOD+ £ZBOD=2Z0CA+2£0CB
= ZAOB=2(£Z0CA+ OCB)

= ZAOB=2ZACB

Case-1II:- When AB is major.
In AAOC

ZAOD = ZOAC+Z£0CA
= ZAOD= Z0CA+Z0CA

= ZAOD=2O0CA.....(5)
Similarly in ABOC

ZBOD=220CB.......... (6)

Adding (5) and (6)

ZAOD+ ZBOD=220CA+220CB
= Ref ZAOB=2(£0CA+ Z0CB)

— Reflex ZAOB=2~2ACB Hence Proved.

AN D B
feam 7 88— C(o, 1) T& ga & S99 OD, Sirar
ABWR o9 2|
g @1 88— AD =DB
T T— OA 3R OB & e |
YATT— AODA 3R AODB # |
OD = OD [39IT<]




OD 1 AB]

Z0ODA= Z0BD=90°] "."
OA = OB [(Fr=amy]

RHS \aHTH7dT o

AODA = AODB.

CPCT ¥

AD=DB AT |

Given:- A circle C(o, r) in which OD 1 AB ie OD is
perpendicular to the chord.
To prove that:- AD = DB
Construction:- Join OA and DB

Proof:- In AODA and AODB
OD = OD [comman]
Z0DA= Z0BD=90°[ .- OD -1 AB]
OA = OB [Radius]
By RHS Congruence rule
AODA = AODB.
By CPCT
AD =DB Hence Proved.

3.
D C
-2 5 4
6 t. '.3
:j"C'>.
7 o2
T\"S 1(./"

A B
fa=m I ¥ — ABCD U% a1 A 2 |
g & 88— ZA+ £C=180°

AR LB+ £D=180°
TAVT— TS ) JIES P PV a_IER B 2 |

Z6=/3
Z4=21 J-mmmeeeee (1)
L2=/17
/8= /5
WH&T-9 (foTa

TGYS P FRI BT BT JTH 360° BT © |

LA+ ZB+Z2CH+ £ZD=360°
(L T+ Z8)H( L 1+ L 2)+( £ 3+ £ 4)+( £ 5+ £ 6)=360°
= LTHLSH LA LT+ L3+ Lo+ L8+ £ 3=360°
[FHIHROT 1 ]

2L 7+2 £ 8+2 £ 3+2 £ 4= 360°
20 LT+ L)+ 2( L3+ £L4)=360°
2ZLA+22C=360°

2(Z A+ 2C) =360°

zarzc=> 150

ZA+2C=180°

. LA+ ZB+ZC+H 2D =360°
— LA+Z2C+£B+2£D =360°
— 180°+ £LB+4£D =360°
= ZB+2£D=360°° 180°

Frretl

ZB+2D=180° ggmud |
D C
102 5 4 &
6 ‘. . 3
0
7 T
RER 1 ¢7]
A B

Given: ABCD is a cyclic quadrilateral.
To prove that:- ZA+ £C=180°

and ZB+ 2D =180°
Construction:- Join AC and BD.

Proof:-  Angles of same segment arte rqual
6=/
Z4= L1 |- (1)
£2=/17
8= /5

Sum of interior angle of a quadrilateral is 360

ZA+ ZB+Z2C+ £ZD=360°
(LTHL)H( L1+ L2+ L3+ LA)+( L5+ £L6)=360°
LT L LM LT+ L3+ 244 28+ 2 3=360°
2L 742 £ 842 £ 342 / 4= 360°
2( 47+ 28)+2( £ 3+ 2 4)=360°
2/ A+22C=360°

3

3
3
3

(134}




— 2(ZLA+2C)=360°

|

|

L

WHEMT-9 (o1

zarzc= <00

ZA+Z2C=180°

LA+ 2B+ 2C+2£D =360°
ZA+ZC+ZLB+4£D =360°
180°+ £ B+ 4D = 360°
ZB+ 2D =360°- 180°

ZB+2D=180° Hence Proved.
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